EANRAROBESIFRT — 2 N—ZABISH—F 20135 7A2H (X) 4m)IB2H

m)ﬂ@%" #Z% 3% [xwlw | lmEmml - |5 %) oom &
[x&<£] 1% :1,200,000 @ ~ 23%&:360,000  ~ 337%&:216,000 @ ~ 4 3&:144,000  ~ 5 7 :120,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i &l :54. -1- . — IAZ (#315)
1 > PIESPE i 3 s 0(5_4)4 2-1-1 | 37.5 1 gs) 51{5 &
L:7A7% B:XM4—btO-7 plit e
— o o A —1t : o - g2 (1)
N : MBSt e it 3 i 0.{555).1 3-3-3 [37.9 4 (4230) ma;%z
R:%¥/ by 7THY B:5—KAaFzx5 JIE 15k
o N Mz . o _ BEH— ()
315|5 1T JRXE2— %3 56.0 = (2/557—; 667 37.0 5 (5—184) KEBE—
L7 RIA YT w8 B:a /Ny hO—X BEFE BAE
S 45 4 3 | Ik 0:55.2 1-1-2  |38.3| — 2 474 | #RRERZ (J11iE)
4N 3| &Y A51.0 (3/4) (ca) | EARHEL
R:vayrohe7 B:S9445 HE R
ft 3 | BELS 0:55.5 56-4 |37.7| — 7 45 | SHEE— (1)
5l1]1|voxvsE 5170 0o (o) | 1) s
R:HYIRT1 5 BVIEE—FZX ke
s o s KHEfE— :55. —4- . — SRAE— (&
6 7| vFszanEL> 4 3 e 0(15/52)6 4-4-6 | 38.3 8 (4+6;) e
L:bTA4=Z2T BNy aUITy b R’ 5
# 3 | SHEHE :55.6 9-9-9 |36.9| — | 3 | 430 |FRHEE ()
718110 X)rAa— 54.0 (7€) +1) CE“W%EE
LixA 23R —=5— BIAS N> Ii:527¢ ]
S_ Semo IHEEE : -6 — EZE (J118)
slzlg| 754> 4 3 i (02.516/.21) 8-6-5 | 38.0 5 (4_626) bl
R:TUBA XIS B:42H/ TI— KL X w77 — L4
=55 ft 3 | EEX 0:56.9 7-5-8 | 39.3| — 10 | 470 |/\B—BB (@Fn)
9lgl11| 7771t 54.0 4) 6 | B EBIIHSES
LA TAT v — BTUVHFNIT—ILR EB4%5
A s f 3 | FEEE 0:57.2 10-10-10 [37.9| — 11 432 | FEAKE ()
1ol 6| 7LV—FRx&— 54.0 (1 1/2) (-5 |EREDF
X+ TTFLRT70—7 B:IZXH—-+ P 3TN
< e o= e BESK : -11- - sEARFEA (I118)
1zl o| 509549 i 3 ol (29{1;’1) 1-11-11 | 41.2 9 (4_5:0) o
LT IH T B RE-F1—F v =l 1#
® I —F—@EBIERL
13—7+—
2ol=5= 3,2,4,7,1,5,11,8,10,6,9
ga=7"= (2,3),4,7,11,(1,8),5,10,6,9
40—+ — 2,3,4,1,8,7,5,11,10,6,9
[ N3
BB 2 130H4 714K 2-4 220M % E 2-4 620M 3EHE 2-4-5 1,310
8 B 2 110 2= 310 B 2-4 720M K31 2-4-5 3,490
4 1809 4-5 1,360M B E 2-4 750
5 210H B 2-4 710M

ABICOVWTRDTEEERROODE. TR LIV,




